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n = 3, 2*Area = 1, D2 of enclosing circle = 2
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n = 4, 2*Area = 2, D? of enclosing circle = 2
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n =5, 2*Area = 5, D2 of enclosing circle = 50/9
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n = 8, 2*Area = 14, D2 of enclosing circle = 10
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n =9, 2*Area = 21, D? of enclosing circle = 1250/49




n = 10, 2*Area = 28, D2 of enclosing circle = 29
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n = 11, 2*Area = 43, D2 of enclosing circle = 40
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= 12, 2*Area = 48, D2 of enclosing circle = 52
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n = 13, 2*Area = 65, D2 of enclosing circle = 73




n = 14, 2*Area = 80, D2 of enclosing circle = 73




n = 15, 2*Area = 103, D2 of enclosing circle = 82




n = 16, 2*Area = 118, D2 of enclosing circle = 82




n =17, 2*Area = 151, D2 of enclosing circle = 23290/169
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n = 18, 2*Area = 174, D2 of enclosing circle = 148
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19, 2*Area = 213, D? of enclosing circle = 202
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n = 20, 2*Area = 242, D2 of enclosing circle = 226
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n = 21, 2*Area = 289, D2 of enclosing circle = 317
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n = 22, 2*Area = 328, D2 of enclosing circle = 317
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n = 23, 2*Area = 387, D2 of enclosing circle = 365
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n = 24, 2*Area = 420, D2 of enclosing circle = 452
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n = 25, 2*Area = 497, D2 of enclosing circle = 500
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n = 26, 2*Area = 548, D2 of enclosing circle = 530
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